I ——

NOC #ffi/ — b No. 82
/Ut 5— MDB OEA F oMIEICDNT (2)

B A=A a—F, FaF2 bA—F—, NFHRBRCEREESEIRBECRRICOVTRER LT,
3-4 BBLRBR EREM: : JIS K 6301-1962 2 HEHL, BRBRES : SRBRE MBI, #(LBE : 100C
HAVISH 24, 48, 96WEME, BIIERAEK : 3-3 MGRBRBR

. CINR @ 140C (M1, 2, 3, 4, 9-405y, K7 304))
RBUEIRAL {0 o (o ()

NR *£5 B % k& B B’

No. #ik Eg Ty Moo Mo Moo Mo EA {t R (%) Hsg

Pk e Hg :

% (hrs) (9%6) (kg/cm?) (kgfcm?) (kg/cm?) (kg/cm?) (kg/cm?) Ep Ty Mo M M My Bk
#{VEi 530 166 10 67 153 50

1 24 470 198 9 62 — 50 —11 —23 —10 ~— 7 0
48 460 120 11 62 — 51 —13 —28 10 — 7 1

M-2| 96 450 82 7 45 — 44 —15 —51 —30 —33 —6
168 450 37 6 24 — 42  —15 —~78 —40 —64 -8
#{LET 550 240 15 94 207 57

2 24 490 193 13 91 — 58 —11 —20 —13 — 3 1
48 450 179 16 100 — 58 —18 —25 7 6 1

M-3| 96 400 131 13 84 — 56 —27 —45 —13 —I11 -1
168 380 90 12 64 — 53 —31 —63 —20 —32 —4
2{VEt 510 261 18 122 260 63

3 24 460 231 19 124 — 62 —10 —12 6 2 -1
48 420 215 22 130 — 61 —18 —18 22 7 -2

M-4| 96 350 164 22 129 — 61 —31 —37 22 6 -9
168 340 120 18 98 — 59 —33 —54 0 —20 —4
#{LH 460 267 25 155 67

4 | 24 430 243 25 156 66 —17 —9 0 1 -1
48 360 217 29 170 66 —22 —19 16 10 -1

M-5 96 320 179 27 167 65 —30 —33 8 8 -2
168 280 140 29 — 65 —39 —48 16 — -9
Z{LHr 470 253 22 130 63

7 24 410 217 292 133 64 —13 —14 0 2 1
48 390 200 23 137 66 —17 —2I 5 5 3

T-4] 96 340 170 27 145 67 —28 —33 23 12 4
168 310 141 24 132 67 —84 —44 9 1 4
2{UET 460 245 28 140 67
24 290 146 30 — 70 —37 —40 7 3

DM{ 48 270 124 33 — 70 —41 —49 18 3

S| 96 190 87 35 — 70 —59 —64 25 3
168 130 58 40 - 70 ~72 —78 43 3

SBR
Z{VRT1090 200 8 20 58 93 52

1 24 1080 178 8 28 58 98 51 — 1 —11 0 15 9 5 —1
48 1080 162 8 22 56 92 52 ~—1 =—I9 0 10 6 —1 0

M-2| 96 1030 155 8 25 60 94 53 — 6 —23 0 2 13 11
168 1000 - 149 9 29 67 99 52 —8 —2 12 45 26 6 0
#{VET 850 - 247 10 40 98 165 53

2 24 840 213 8 42 98 161 52 —1 —14 —20 5 0 —2 —1
48 830 - 214 10 45 104 166 53 — 2 —I8 0. 13 6 1 o

M-3| 96 810210 10 48 106 166 - 54 — 5 —I15 0 20 8 11
168 800 203 12 53 109 165 55 —6 —18 20 32 10 0 2
#{LEl 690 231 12 60 134 55

3 24 690 231 12 70 144 57 0 0 0 17 7 2
48 640 216 13 74 151 57 — 17 — 6 8 23 13 2

M-4| 96 640 214 13 74 149 57 — 7 —7 8 23 11 2
168 640 207 15 77 154 57 -~ 7 —10 25 28 15 2

956 (186)
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